J
——

T



22+y+1<0

YA
(0]

/2

(z—1)%+(y+2)2) 4
YA




fo
. ol

o1

zt+y—2=0

Y 22-y—4=0

zt+y—2=0

Y 22-y—4=0

zt+y—2=0

o o/

Y 22-y—4=0

z+y—2=0

Y 22-y—4=0

z+y—2=0

o



4.

B5A] x(x+3)(2 412 - 4) > 0 5 WESE G4 HERY o]

LERE? (F, BAIA A1)




<
]
N m_m

o WF
A

H
Br
= B°
L]_._
To
]
ol

CUNT
o

yA
c




=7 (2, BA%

A

& vh2 7] ehfolz]

A <)

24+y2-1)<0
(y—x+1)(x*+y







8. HS5Ax?+y?<5 & WEstE AL F (v, y) O HeE?

D 1174 @ 1274 3 1670 @ 2171 ® 2471



9.

MESA y>—x+3, y<x+3, x<3& A ©
O =A% (x, y) & M7

D 127 @ 1470 3 1670 @ 187}

ot
=L
rr
o
i

® 207H



of.
i

@ 2n

o Yolg Fatw?

® 4n



y=V3|x|+1>0
2 +y2+2y<0

®

wlx

o] thehfi 94 9] Holi?

>N
NoR |



12. SRR Sel4 Y2

{ﬁ+ﬁ$1 SEERIER

x| +y=>1

n-1 -2
2 2

@



13.

>0,x24y2<4,x-y>02 FA

B
U % ol Al Yl v ge) ol

@ V2
B 2V2 -2

® 2vV2-1

2 A7)



x> +y?<9
@ y
y>—-x+3
P +y? =9
@ y
y<—=x+3

® (F*+y*-9)(x+y-3)<0
@ (P*4+y*-9)(x+y-3)20

® (X¥+y*-9)(x+y-3)<0



15. the el A AU Rio] U
AL, AAM 23h
yA
2
1
1
—2

x+y-1>0
®

x24+y? <4

x+y-120
@

¥ +y?<4

@ (x+y-1)(x2+y*-4)>0
@ (x+y-1)(x®2+y?-4)<0

® (x+y-1)(x2+y2-4)<0

of
2
filo



16. o5 1" At HES B o® deh|? (&, ZAH Al9)
y A
S
WA
) -~ T
Q/ \\
-5
D 2x+ 5y > 10 o) 2x+ 5y <10
x2+y2 <5 x*+y?2 <5
3 2x 4+ 5y > 10 @ 2x 4+ 5y > 10
x24+y2>25 x2+y2 <25
® 2x+ 5y <10

X +y2<25



17. ol 19o] oj5g BEL HEAOR et y
w7 (&, AAAL L)

1

@ fyzx+1 x
-110 2

@ {y<x+1 / X

@ (x-y+D(x+2y-2)20

@ (x-y+1)(x+2y-2)<0

® (x+y+D(x+2y+2)>0



65Tk 2L F G vyl Hhokel Al 5 3, y7} A7 o) A o)
Zol7k & ul, A4 x, yo] A (v, y) ] AA4E Fatelet.

2



19.

|0

Y
fr

Ol
—~ o\'—"l

]_

v

L

( x,

Ao A 554 < —2 4 6x 2 THEGIE A
Jtolat

y) & g



(x,y) MM x,y

x2—|—y2s4
X% 4y > 2x

B8r
Bo
ol

—

Hlo
-

Fod=t.

o A4g 7

]
=1

A



21. A

A (2,a) 7D 22 +y2 — 4y = 16 9] R YEE st H4 q 9]
Mee?

@D 674 ® 778 ® 874 @ 970 ® 107



22,

ZAEPY oA L54
ko] A7t BE 2h

g
= -

7H

£0] %

|x|+|y|<4 EESVE R
% o] oo BAE oI

AEx+y-4=0
—Q:|7HTE o]-oflal-






o] ol& a2




A

Hol

® 10 3 12 @ 14 ® 16

@D 8



26.

A,B,C,D F Yo7t &
Al lx+yl+1lx—y<6

B |x —2005| + |x — 2005 <

\/_

C:(x=y)(x*+y*=3)<0,lx+<3

D:lx+2) <3

® A,B

@ A.B.D

@ B,C

® B.C.D

® A,C,D



